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(mm) yid a 13 (kg/cni)
0.5 50 40 450 38.05
1.0 9.0 7.0 8.00 67.65
1.5 12.5 10.0 11.25 95.14
20 150 | 125 | 13.75 116.28
2.5 17.0 15.0 16.00 135.31
3.0 20.0 17.0 18.50 156.45
5.0 27.0 250 | 26.00 219.88
1.5 37.0 35.0 | 36.00 304.45
10.0 48.0 440 | 46.00 389.02
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40.0 555.0 555.0 0 0 100.00
37.5 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 664.5 574.4 90.1 7.13 92.87
9.5 762.2 543.8 218.4 17.27 75.60
6.7 7735 479.5 294.0 23.25 52.35
4.75 808.3 529.4 278.9 22.06 30.29
2.36 742.4 491.2 251.2 19.87 10.42
1.180 557.0 465.4 91.6 7.25 3.17
0.425 387.2 351.7 35.5 2.81 0.36
0.075 315.3 310.7 4.6 0.36 0
0.0 348.2 348.2 0.0 0 0
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GEEREC-E&E x100% REDER=ITHLDR
2 i B 4 At
100
90 —=
80 o
s 70
*Ei 60
i 50 7
Il
i 40
Eéi 30 = 2
20 =
10 =
0 & > by & I "y e
0075 0425 236 4.75 9.5 13.2 40.0




